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SAM-IV NC_003888.3/2308784-2308334
Shrinking nucs & bonds using
nucShrinkWithCircleNuc and pairBondScaleWithOneSeq
because circle_nuc or #=GR ... CLEAVAGE was used
Set these vars to 1 using SetDrawingParam
to disable.  See note1 in manual.
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SAM-IV NC_003888.3/2308784-2308334 multistem=original
Shrinking nucs & bonds using
nucShrinkWithCircleNuc and pairBondScaleWithOneSeq
because circle_nuc or #=GR ... CLEAVAGE was used
Set these vars to 1 using SetDrawingParam
to disable.  See note1 in manual.
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SAM-IV NC_003888.3/2308784-2308334 multistem=solver internalloop=solver2
Shrinking nucs & bonds using
nucShrinkWithCircleNuc and pairBondScaleWithOneSeq
because circle_nuc or #=GR ... CLEAVAGE was used
Set these vars to 1 using SetDrawingParam
to disable.  See note1 in manual.
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SAM-IV NC_003888.3/2308784-2308334 pseudoknot=1
Shrinking nucs & bonds using
nucShrinkWithCircleNuc and pairBondScaleWithOneSeq
because circle_nuc or #=GR ... CLEAVAGE was used
Set these vars to 1 using SetDrawingParam
to disable.  See note1 in manual.
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SAM-IV NC_003888.3/2308784-2308334 pseudoknot=2
Shrinking nucs & bonds using
nucShrinkWithCircleNuc and pairBondScaleWithOneSeq
because circle_nuc or #=GR ... CLEAVAGE was used
Set these vars to 1 using SetDrawingParam
to disable.  See note1 in manual.
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SAM-IV Weinberg2008-Fig1=1 multistem=original
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SAM-IV multistem=bulgey
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SAM-IV multistem=original

G
G
U
CAY

G
A

G
Y

RYCAGC
R

Y
A
AGCC

C
C

G GC U G C U G R Y C
G
G
CA

A C
C
C

U
C
C

Y C
G
C

G
G Y
G
G
G
U

G
C
C C C GG

G
U
G
A

G
A
C
C

G G Y Y

GGC
A

A
G

Y
G

C
G
R

Y
Y

Y

5´

SAM-IV multistem=original internalloop=solver
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SAM-IV multistem=original internalloop=solver2
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SAM-IV multistem=original internalloop=solver3
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SAM-IV multistem=original internalloop=turn
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